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(-3) L,sc olsiniirlc calcLrlator is allou,ed

l. Attentpt an1, tlyo of the lbliog ipg :- ls

(a) Calculate Spearrnati's Rarrk irrr coe fhcient lor the lbllowing data.

(b) Find the Regression EqLrarion of X on y tor the fbllor.r,ing data :ili.l cstirnate X rvhen Y : 3.5

(c) Fit a trencl using three yearly movi ng nrethod

2. Afternpt any trvo of the follor,r ing :-

(a) Splice the follorving series :-

l5

(b) CalcLrlate Laspeyre's and Paasclie's Inilc:r n\u rrbers fbr the fbilorvinrr clat;r

20 30 45

Y 20 30 17

2 6 8 l0

5

2009 2010 20t2 20r3 Ir'\l I_\rl+ 20t5 'ut()

No. Of Policy
lioldcrs in thorrsands

35 38 ia+: 11+t 10a()

Year 2008 2009 20ta 20rI 2012 20t3 2014 201 5

Series A 100 135 l<n ? ?
,I

Series B
,)

? r00 I lt) r30 l3-5

Comrlodity Curreirt Year

Irrice ( t ) Quantitl, Plii:c ( t ) Quantitl'

30 40 5

B 15 L 20 4

J

D 12 I 1l
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4t) 50

45 35

Y 4 -) 6

Year 201 r

A1-l 15 50

120 130

? ?

Base Year

A

C i0 6 30

6 )



Cornmodity' Base Year
(Price in t )

Current Year
(Price in t )

Weight

A 20 30 4

B t2 aAL+ 5

C t3 6

D 150 3
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(c) Calculate the Cost of lir irrg index number fbr the fbllorving data

3. Attempl an1'frl'o of the follori'ing :-

(a) What are the types of hypotliesis?

(b) Expleirr thi: criteria of a good h,r,pothesis

(c) Explain the fbllor.,ing :-

(i) Type I and Typc Il errors

(ii; t.evels of signilicance

4. Attempt any tlvo o1'the lbllor,r,ing :-

(a) Explain various types o1'Research (q:pofts.

(b) State thc principles of rvriting a research rc1-;ort.

(c) DiscLrss : (i) Bibliography

(ii) Appenclii:cs

5. Write sliort notes on any three of the f,ollowing :-

(a) Scatter diagram

(b) Regression anall'sis

(c) Uses of Index numbei

(d) Critical region

(e) i','train text of a research repoft
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(3) €'rtrT t-seq-,I* Elq-{uq-g c-larrrfr 3{Tt.

1. ary,ftffi-4ffifr dA qqa e}-rdr

(3r)T&d ffi fshlitrd (Splicing) 6rt.

etd-"t meq3rrql 3flfr cl?i-={I ft-*qrr+- +rr.
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